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Evaluate                         ∫      ( ) 𝑑  

     

                                   u= x                             du =dx  

                        

                      dv  = cos (x) dx               𝑣  ∫    ( )𝑑        

 

 then∫       ( )𝑑   ∫ 𝑢  𝑑𝑣   𝑢 𝑣   ∫ 𝑣 𝑑𝑢  

                                                            

      ( )   ∫     ( )𝑑  

       ( )      ( )    

 

Tabular Integration  

Consider the integral of the form  dxxgxf )()(  in which  )(xf can be differential 

repeatedly to Zero and )(xg can be integral repeatedly without difficulty Tabular  

integration save a great deal of work as natural method consider from 

integration 
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)(xf  and Its derivative )(xg  and Its Integrals 

)(xf  )(xg  

)(xf   
  )()( 1 xgdxxg  

)(xf   
  )()( 21 xgdxxg  

)(xf   
  )()( 32 xgdxxg  

    

)(1 xf n    

0)( xf n  )()(1 xgdxxg nn   

 

)()()()()()()()( 1
321 xgxfxgxfxgxfxgxfI n

n   

 

 

 

           Evaluate   dxexI x2  

 

          Solution :-       

)(xf  and Its derivative )(xg  and Its Integrals 

2x  xe  

x2  
  xx edxe  

2    xx edxe  

0  
  xx edxe  

 

cexeexdxexI xxxx   2222  

 

 

+ 

- 

+ 

+ 

- 

+ 
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      Evaluate     dxxxxxI )2sin(132 23  

 

             Solution :-      

)(xf  and Its derivative )(xg  and Its Integrals 

132 23  xxx  )2sin( x  

343 2  xx    )2cos(
2

1
)2sin( xdxx  

46 x    )2sin(
4

1
)2cos(

2

1
xdxx  

6  
  )2cos(

8

1
)2sin(

4

1
xdxx  

0  )2sin(
16

1
)2cos(

8

1
xx   

I  

 

 

       Evaluate   dxxeI x )sin(  

 

               Solution :-      
)cos(

)sin(

xvdxedu

dxxdveu

x

x




 

 

                            jxedxxexeI xxx   )cos()cos()cos(  

Where               dxxej x )cos(
)sin(

)cos(

xvdxedu

dxxdveu

x

x




 

 

  Ixedxxexej xxx )sin()sin()sin(  

 

+ 

- 

+ 

- 
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 )sin()cos(
2

1
)sin()cos(2)sin()cos( xxexexeIIxexeI xxxxx   

 

 

 

       

How To Solve 

 

 

1   dxxx )1ln(2  

 

dxxx
 )(sec. 1  dxxx

 )(tan 12   dxx )2sin(  

2     dxxxx )ln(112   
 dxexxx x223 1  

 dxxe x )sin(    xx 1  

 

3 
dxex x


3                dxx)]sin[ln(  

  

 

 

 

Good Luck ..  

 

 

 

 


